Practice 5 Answer Key

Because she didn’t know about his crime, “Peterson picked her daughter up from school and babysat on occasion” (Daily Breeze A4).  After finding out about him, she helped the police.  Scott Peterson was eventually arrested, stood trial and is currently serving time for killing his wife.  Unfortunately, when Lacy Peterson was murdered, their son also died because he hadn’t been born yet.  

T   F    1.  There are 8 clauses. (7)

T   F    2.  There are 3 dependent clauses.

T   F    3.  The quote is narration.

T   F    4.  In the first sentence, there should not be a comma between crime and Peterson
T   F    5.  The parenthetical source reference is correctly done.  

T   F    6.  There should be a comma between the name of the newspaper and the page number.

T   F    7.  The sentence beginning with After has two clauses.  

T   F    8.  The sentence beginning with Scott Peterson has only 2 predicates.

T   F    9.  In the sentence beginning with Scott Peterson, there must be a comma between 



trial and and.

T   F    10. The sentence beginning with Unfortunately has three clauses.

